[.esson 6

Preview Test Exercise 6.6 .
1.D 4.C 7.A 10. A 1. X recent 5. X smooth 9. X sudden
2.D 5.C 8.C 11.B 2.C 6. X annual 10. X well
3.A 6. A 9.C 12.B 3. X particularly 7. X dense
4. X loyal 8.C
Exercise 6.1
1. X were 6.X is 11.X is 16.C Exercise 6.7
2.C 7.C 12. X was 17.C 1. X health 11. X confidence
3. X have 8.X is 13. X was 18. X has 2. X analyze 12. X warm
4.C 8.C 14.C 19.C 3. X drama 13. X walks
5.C 10.C 15. X attend  20. X are 4, X speech 14. X Tourism
5.C 15. X French
Exercise 6.2 6. X safety 16. X full
1. X have become 9. X had just boarded 7. X delivers 17. X prove
2.C 10. X pays off 8.C 18.C
3. X took 11. X have not had 9. X Payment 19. X relief
4.C 12. X worked 10. X advice 20. X leader
5. X have 13. X will have already returned
8. X was not (OR will aiready have retumed) Exercise 6.8
7.C i4, C 1. _A_ The past participle given is required after the
8. X have visited 15. X like auxiliary has.
Exercise 6.3 2. _C  The correct word is hard. (Hardly means
1. X produced 6. X strengthened 11. X grown “only a little.”)
2. X jogging 7.C 12.C
3. X read 8. X worn 13. X sang 3. _A _ Popular means well-liked, but no one likes the
4. X seen 9. X flew 14. X driving flul The proper word is common.
5.C 10.C 15. X changed
4. D The negative adjective no must be used
Exercise 6.4 before a noun.
1.C 6.C 11.C
2. X so much 7.X so 12. X beside 5. _C_ The future perfect tense is needed:; will have
3. X too 8. X so often 13.C increased.
4.C 9. X Like 14. X between
5. X After 10. X no longer 15. X too 6. B The adverb carefully is required.
Exercise 6.5 7. _B_ The past tense wore is needed in place of
1. X lend 8. X lie 15. X made the past participle (worn).
2. X do 9.C 16. X robbed
3. X common 10. X late 17. X customs 8 _C The noun list is needed in place of the
4. X made 11. X nearly 18. X made gerund.
5. X major 12. X raised 19.C
6. X unanimously 13. X felt 20. X accept 9. _V  Inatime clause about the future, the simple
7. X old 14. X owe present tense is needed.
10. _A_ The verb are must be used to agree with the

grammatical subject, several people.



11._B_ The past participle held is required after the
auxiliary are.

i12. B Before an adjective + noun (beautiful sight),
the phrase such a must be used in place of
so.

138._A_ The correct phrase is in general.

14. B The verb choose is needed.

15. _A_ The noun importance is needed.

16. _C _ The correct expression is fell asleep. (Fell is

the past tense of fall; felt is the past tense of
feel.)

17. _B The past participle seen is needed because
the verb is a passive form, not a progressive

form.
18. _ A The correct word is did.
19. _A_ The verb told should be used because the

verb said cannot be followed by an indirect
object such as you.

20. D The noun form seniority is needed.

Exercise 6.9

1. X at 6.C 11. X in

2. X for 7.X by 12C

3. X for 8.X on 13. X with/by
4.X on 9.X in 14. X on

5. X from 10. X by 15. X to
Exercise 6.10

1. X overseas 7. X Most of the

2. X next Friday 8.C _

3.C 9. X Hundreds of people

4. X spite of the problems  10. X contact one

5. X which 11. X in the rear of

6. X belongs to Patty 12. X approved by the director
Exercise 6.11

1. X torisk 6. X get 11. X to import

2. X getting 7.C 12. X helping

3.X tofollow 8.X torecord 13. X to pick

4.C 9.C 14.C

5.C 10. X work 15.C

Exercise 6.12

1. X and me 1.0

2.X it 12.C

3. X Your 13. X we saw
4. X These 14.C

5. X whose 15. X it

6. X yourselves 16. X herself
7.C 17. X her

8. X his 18.X to

9. X their 19. X them
10. X this 20. X offers
Exercise 6.13

1. X pounds of coffee 11. X minutes
2 C 12.C

13. X mountain roads
14. X participants

3. X ten years old
4. X discoveries

5. X two-roomsuite 15.C

6. C 16. X the women

7. X advice 17. X coin collectors

8. C 18. X eight-month-old

9. X feet 19. X jewelry

10.C 20.C

Exercise 6.14

1. _C The correct form of the infinitive is fo enter
(omit for).

2 D Equipment is a noncount noun and should
not be pluralized.

3. _C Atfter the verb allow, the infinitive (fo enter)
must be used.

4. B No preposition is used before the word
abroad.

5. _A_ Thousand should be pluralized.

6. _D_ The preposition on should be used.

7. _C The preposition fo is needed after the verb
lead.

8. _B_ The noun example should be pluralized.

9. _A After the verb Jet, a simple form is needed.

10._D_ The first noun of a compound noun
(professional golfers) should not be pluralized.

1. B The correct possessive form is their.




-l
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Tooth has an imegular plural form, teeth.

i

The plural first person pronoun we should be
used in place of the singular first person
pronoun / to agree with the plural noun

14. _A_ The gerund seeing is needed after the verb
. missed.
1=F. _C _ The plural noun weeks should be used.
|
16. _C_ The feminine possessive form her should be
used to agree with the feminine noun actress.
1!7 _C  The correct preposition is for: for rent.
18. _A_  No preposition is used after the verb
i attended.
1‘9. _B_ The pronoun it should be omitted.

20. B The noun piane should be pluralized.
|
Exercise 6.15
1.C 6. X highest
X oldest 7.X less
. X the most reliable 8. X most important
4.X worst 9.C
q. C 10. X faster
ercise 6.16
.C 11. X a third
. X Volume 12. X the near future
3.C 13. X a university
X the airport 14. X The first
§X an idea 15.C
. C 16. X The water
. X Water 17. X an hour
X the photographs 18. X most
9. X the roof 19.C
10. X a week 20. X business administration
Exercise 6.17
1. X big enough 8. X miles long
2. X fully grown 9. X us to show
X that means 10.C
C 11. X there were
X in which 12. X almost entirely
. C 13. X much too
. X environmental 14. X sound waves
problems 15. X country manager

Exercise 6.18

1. X Because of 7. X neither

2. X what 8.C

3. X that/which 9. X that/which

4. X if 10. X When

5.C 11. X that

6. X who/that 12. X but also

Exercise 6.19

1. X limited 6. X arhazed

2. X disappointing 7.C

3. X frustrating 8.C

4.C 9. X disgusting

5. X written 10. X stolen

Exercise 6.20

1. _C Before a word beginning with a consonant
sound, the article a must be used.

2. _A  The past participle Frozen is required.

3. _C  The article the is missing: near the end.

4. _B_ Before a noun phrase (his strong
background), because of must be used.

5 _B The correct word order is at which
(preposition + relative word).

6. _C_  The noun-clause marker what should be
used.

7. _C The correct pattern is either . . . or.

8. _D The correct word order is working too slow.

9. _C The possessive form whose must be replaced
with the subject form who.

10._B The correct word order is warm enough.
(Adjectives precede the word enough.)

1._D The present participle amusing is required.

12 _D The comparative form of the adjective
(clearer) is needed to compare two things.

13. _A_ The definite article the should be used before
the superiative form of the adjective.

14. _C _ The article a should be omitied before the

noncount noun fife.



15. _A The indefinite article The should be used
because the noncount noun ice cream is
followed by a modifier (that we bought at the
store) that makes it specific.

16. _C The correct word order is widely spoken.

17. D No article is needed before the noncount
noun electricity.

18. D The past participle deserfed must be used.

19. _C  The correct form of the comparative is
warmer. (Omit more.)

20. D The correct word order in an indirect question
is subject + verb: this is.

Review Test

1. _C_ The plural form servings should be used.

2. _D_ The phrase should correctly read to do
business.

3. B The past participle met is needed in place of
the simple form.

4. _B_ The infinitive to open is required in place of
the gerund.

5. _A_ Before a word beginning with a vowel sound
oak, the article an must be used in place of a.

6. B The noun form must be pluralized.

7. _A The word for must be omitted; the correct
form of the infinitive is to relocate.

8. _B_ The preposition in must be used before
the phrase the moming.

9. D The present participle confusing is
needed.

10. _B The plural pronoun these is needed to refer
to the three types of organization.

11._C  The noun liters should not be pluralized.

12. _C _ The adjective form ordinary should be used in

place of the adverb.

The adjective-clause marker whom should be
used to refer to persons.

The word Like should be used in place of
Alike.

The correct comparative form is easier.

Before a clause, the adverb-clause marker
Although must be used.

The word remind must be used in place of
rermember because remember cannot be
used with an indirect object (me).

The correct word order is it is.

The adjective dangerous is needed in place of
the plural noun.

The present participle challenging is needed.




